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QUESTION 1

Which three statements correctly describe MySQL InnoDB Cluster? (Choose three.)

A. The cluster can be operated in multimaster mode with conflict detection for DML statements.
B. All MySQL client programs and connectors can be used for executing queries.

C. It provides fully synchronous replication between the nodes.

D. There is support for automatic failover when one node fails.

E. The data is automatically shared between the nodes.

F. Each query will be executed in parallel across the nodes.

Correct Answer: BDF

QUESTION 2
This output is from a SHOW SLAVE STATUS:

mysql> SHOW SLAVE STATUS\G

FHAER IR R R drwdr e w 1_ row LA B B R S SRR SR RS R R R EE

Slave_ IO _State: Waiting for master to send event
Slave_IO Running: Yes
Slave_SQL_Running: Yes

SQL Delay: 360
SQL _Remaining Delay: NULL
Slave_SQL Running_State: Slave has read all relay log; waiting for the slave I/O0
thread to update it

What would cause the SQL_Delay variable to have a value of 3607

A. The master has performed a large transaction, which will take 360 seconds to complete on the slave.
B. The network latency between the master and the slave is 360 milliseconds.

C. The slave will need an estimated 360 seconds to update the remaining contents from the relay log.
D. The slave was configured for delayed replication with a delay of six minutes.

Correct Answer: D

Reference: https://docs.oracle.com/cd/E17952_01/mysql-5.7-en/show-slave-status.html

QUESTION 3

You are installing MySQL Server 5.7 from a tarball package. You have already set up the correct PATH environment
variable and configured your /etc/my.cnf file.
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Which command will correctly prepare a data directory?
A. service mysqgld prepare-init

B. mysqgld_safe --initialize ...

C. mysql -u root -p

D. mysqld_safe --user=mysq|

E. mysqld --initialize ...

Correct Answer: E

Reference: https://dev.mysqgl.com/doc/refman/5.7/en/data-directory-initialization.html

QUESTION 4

The MySQL installation includes the mysqgl_config_editor utility for managing login paths stored in a .mylogin.cnf file.
Which two are true about the login path feature? (Choose two.)

A. mysgl_config_editor is the only MySQL-provided utility that can print the values stored in .mylogin.cnf.

B. A .mylogin.cnf file can store at most one login path.

C. It provides a FIPS-compliant keyring for storing MySQL login details.

D. A .mylogin.cnf file can be edited using a text editor, such as vim or Notepad++.

E. It is an alternative to storing the MySQL login details in a my.cnf file.

F. It provides means to help avoid accidentally exposing the MySQL login details.

Correct Answer: EF

Reference: https://dev.mysqgl.com/doc/refman/8.0/en/mysql-config-editor.html

QUESTION 5

An existing master-slave setup is currently using a delayed replication of one hour. The master has crashed and the
slave must be "rolled forward" to provide all the latest data.

The SHOW SLAVE STATUS indicates these values: RELAY_LOG_FILE=hostname-relay-bin.00004
RELAY_LOG_P0OS=1383

Which command set would make the slave current?
A. STOP SLAVE; SET GLOBAL master_delay=0; START SLAVE;

B. STOP SLAVE; CHANGE MASTER TO RELAY_LOG_FILE = "hostname-relay-bin.00004\\', RELAY_LOG_POS =
1383;

170-888 VCE Dumps | 1Z20-888 Practice Test | 120-888 Study Guide 3/4


https://www.pass4itsure.com/1z0-888.html
https://www.pass4itsure.com/1z0-888.html
https://www.pass4itsure.com/1z0-888.html

. VCE & PDF https://www.pass4itsure.com/1z0-888.html
E 2024 Latest passditsure 120-888 PDF and VCE dumps Download
: PassditSure.com

C. STOP SLAVE; CHANGE MASTER TO MASTER_DELAY=0; START SLAVE;

D. STOP SLAVE; CHANGE MASTER TO MASTER_DELAY=0; RELAY_LOG_FILE = “hostname-relaybin.00004\,
RELAY_LOG_POS = 1383;

Correct Answer: C
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